PΙ	A 1	VТ	$\mathbf{F}\mathbf{N}'$	$\mathbf{r}\mathbf{r}\mathbf{p}$	PR	ICEC	PRO	DII	CTION	
	A	. 1	ועו	ועו ו	, i i	כעוכוו	1111	יטעו		

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood					cords	
Pulpwood (Total)				8,358		
Saw Timber						
Hardwood					board feet	
Saw Timber (Total)				351,430		
Total Pulpwood, Chip & Saw,	,					\$690,549
Saw Timber FOB Mill						
Total Forestry Stumpage						\$235,977
Forestry (Total)						\$690,549
FRUITS						
Citrus						
Navels	*	3.0	400.00	1,200		\$16,800
Satsumas	*	2.0	525.00	1,050		\$10,500
Other Citrus	*	3.0	350.00	1,050	bu.	\$10,500
Citrus (Total)		8.0				\$37,800
Fruits (Total)		8.0				\$37,800
HAY FOR SALE			2.10	10.150		4.505 .600
Grass	14	3,275.0	3.10	10,152	tons	\$507,600
Hay for Sale (Total)	2.407	3,275.0				\$507,600
HOME GARDENS	3,485					\$1,045,500
NURSERY CROPS	at.					40.000
Fruit and Nut Trees	*				acre	\$8,000
Floraculture & Bedding Plants	*				acre	\$3,000,000
Woody Ornamentals	*				acre	\$500,000
Foliage Plants	*				acre	\$500,000

TOT	A B TEE		DDICEC	DDADIIATIAN
νı		H N H H	ישטועעי	PRODUCTION
		יועו דועו		1 188717076 1 18718

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
Nursery Crops (Total)						\$4,008,000
PECANS						ψ 1,000,000
Improved	*	3.0	1,000.00	3,000	lbs.	\$3,900
Native	*	4.5	800.00	3,600		\$3,600
Pecans (Total)		7.5		- ,		\$7,500
SUGARCANE		,				. ,
Raw Sugar	*	2,203.0	5,593.00	12,321,379	lbs.	\$1,497,048
Molasses		2,203.0	168.00	370,104	gal.	\$53,665
Sugarcane (Total)		2,203.0		,	C	\$1,550,713
SWEET POTATOES		,				
Canning				183		\$366
Fresh				732		\$10,248
Sweet Potatoes (Total)	*	3.0	305.00	915	bu. (50 lbs.)	\$10,614
VEGETABLES						
Beets	*	3.5	230.00	805	doz. bunches	\$5,635
Broccoli (Fresh)	7	11.0	320.00	3,520	cartons (20	\$52,800
					lbs.)	
Cabbage						
Fresh	10	11.0	450.00	4,950	sacks (50 lbs.)	\$34,650
Cabbage (Total)		11.0				\$34,650
Cantaloupe	7	8.0	100.00	800	cartons (40	\$12,000
					lbs.)	
Carrots	*	1.0	310.00	310	doz. bunches	\$2,170
Cauliflower	8	10.0	360.00	3,600	cartons (20	\$54,000
					lbs.)	
Collards						
Fresh	6	5.0	440.00	2,200	doz. bunches	\$15,400
Collards (Total)		5.0				\$15,400

PI.	ANT	ENTER	PRISES	PRODUCTI	\mathbf{ON}

			<u>IERPRISES PROD</u>			
Crop	Number of Producers	Aaraa	Yield per Acre	Total Production	Units of	Gross Farm Value
	Producers	Acres	Acte	Production	Measure	value
VEGETABLES						
Cucumber						
Fresh	*	6.0	400.00	2,400	bu. (50 lbs.)	\$24,000
Cucumber (Total)		6.0				\$24,000
Eggplant	14	6.0	385.00		bu. (33 lbs.)	\$34,650
Garlic	*	3.0	3,200.00	9,600	lbs.	\$38,400
Irish Potatoes						
Fresh	*	6.0	160.00	960	cwt.	\$33,600
Irish Potatoes (Total)		6.0				\$33,600
Lima Beans						
Fresh	*	2.0	68.00	136	bu. (32 lbs.)	\$4,760
Lima Beans (Total)		2.0				\$4,760
Mirliton	*	3.0	2,800.00	8,400	lbs.	\$16,800
Mustard (Fresh)	11	8.0	610.00	4,880	doz. bunches	\$34,160
Okra (Fresh)	13	17.0	400.00	6,800	bu.	\$170,000
Onions	*	3.0	80.00	240	bag (50 lbs.)	\$6,000
Green Onions	7	5.0	700.00	3,500	lbs.	\$7,000
Peppers						
Banana	*	2.0	425.00	850	bu. (25 lb.)	\$12,750
Bell	12	12.0	380.00	4,560	bu. (28 lb.)	\$68,400
Peppers (Total)		14.0				\$81,150
Pumpkin (Fresh)	*	30.0	125.00	3,750	cwt.	\$75,000
Pumpkin - Cushaw	*	4.0	100.00	400	cwt.	\$8,000
Shallots	15	11.0	1,020.00	11,220	doz. bunches	\$67,320
Snap Beans (Fresh)	*	4.0	130.00	520	bu. (30 lbs.)	\$13,000
Southern Peas (Fresh)	*	2.0	60.00		bu. (24 lbs.)	\$3,000
Spinach (Fresh)	*	2.0	105.00		bu. (25 lbs.)	\$5,250
Squash (Fresh)					•	

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Yellow Squash	15	12.0	200.00	2,400	bu. (45 lbs.)	\$36,000
Winter Squash	7	4.0	125.00	· ·	bu. (45 lbs.)	\$7,500
Squash (Fresh) (Total)		16.0			,	\$43,500
Sweet Corn (Fresh)	*	6.0	700.00	4,200	doz. ears	\$14,700
Tomatoes (Field)	13	18.0	1,320.00	23,760	lugs (20 lbs.)	\$427,680
Turnips (Fresh)	*	4.0	505.00	2,020	doz. bunches	\$14,140
Watermelon	*	11.0	140.00	1,540	cwt.	\$12,320
Vegetables (Total)		230.5				\$1,311,085
TOTAL ALL PLANT ENTERI	PRISES					\$9,169,361

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
FRESHWATER FISHERIES					
Freshwater Finfish **	116		140,475	lbs.	\$69,704
Freshwater Fisheries (Total)					\$69,704
MARINE FISHERIES					
Shrimp **	41		12,829	lbs.	\$22,578
Crabs **	144		2,986,480	lbs.	\$2,003,629
Marine Fisheries (Total)					\$2,026,207
FUR ANIMALS			731	pelts	\$5,366
ALLIGATORS (WILD)			9,030	•	\$189,630
HUNTING LEASES			,		
Waterfowl	*	290 No. Acres		acre	\$4,350
		Leased			

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
HUNTING LEASES All Other Game	10	4,400	No. Acres Leased		acre	\$24,200
Hunting Leases (Total) HONEY TOTAL ALL FISHERIES &	* & WILDLIFE ENTERPRISES	161	No. Hives	10,465	lbs.	\$28,550 \$7,744 \$2,327,201

^{**} The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			35	head	\$15,501
400-500 lbs.			12	head	\$6,058
500-600 lbs.			16	head	\$8,945
600-700 lbs.			30	head	\$19,110
Steer Calves (Total)					\$49,614
Heifer Calves					
300-400 lbs.			100	head	\$40,317
400-500 lbs.			230	head	\$106,967
500-600 lbs.			200	head	\$105,567
600-700 lbs.			320	head	\$191,360
Heifer Calves (Total)					\$444,211
Yearling Cattle					
600-700 lbs.			300	head	\$191,100
700-800 lbs.			220	head	\$151,800
					Page 5 of 6

ANIMAL ENTERPRISES PRODUC	("TION]	
---------------------------	---------	--

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Yearling Cattle (Total)					\$342,900
Cow-Calf Pairs				pair	\$133,000
Cull Cows			1,695		\$696,026
Cull Bulls			365	head	\$335,234
Cattle & Calves (Total)	27	4,930 No. Cows			\$2,000,985
HORSES					
Brood Mares					
Show Horses	6	14 No. Brood Mares	3	head	\$10,500
Recreation Horses	21	30 No. Brood Mares	6	head	\$9,000
Brood Mares (Total)					\$19,500
Show Horses	35		100	head	\$400,000
Recreation Horses	150		160	head	\$240,000
Horses (Total)					\$659,500
GOATS					
Slaughter Goats			16	head	\$1,680
Goats (Total)	*	17 No. Does			\$1,680
SWINE					
Show Pigs			10	head	\$3,300
Feeder Pigs			4	head	\$184
Slaughter Hogs			18	head	\$2,808
Culls			3	head	\$336
Swine (Total)	*	6 No. Sows			\$6,628
EXOTIC ANIMALS					
Deer/Antelope	*	120 No. Animals	80	head	\$10,000
Exotic Animals (Total)					\$10,000
TOTAL ALL ANIMAL EN	NTERPRISES				\$2,678,793
ST. CHARLES PARISI	H TOTAL				\$14,175,355